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      General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time of

2½ hrs.

l You are neither allowed to write your answers nor to discuss anything with

others during the 'cool off time'.

l Use the 'cool off time' to get familiar with questions and to plan your answers.

l Read the questions carefully before answering.

l All questions are compulsory and only internal choice is allowed.

l When you select a question, all the sub-questions must be answered from

the same question itself.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in

the Examination Hall.

     j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU. CT
yop¾V S\Lh|°¥¨V D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.
l IŠL S\Lh|°¥¨OU D¾qU IuOfeU. CS£e¤ S\LpVyV oLNfSo

AjOvh]¨OWpOçO.
l KqO  S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.
l We V̈ WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q SkÕr]¤¾RÐ

DºLp]q]¨eU.
l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.
l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. The range of simple correlation

coefficient is ...........

a) zero to infinity

b) –1 to +1

c) minus infinity to plus

infinity

d) none of these

2. Explain the background which

led to the economic reforms in

India in 1991.

3. Explain the measures adopted

to improve agricultural

marketing.

4. Fill in the blanks with the

correct answer from the

brackets.

(agricultural, industrial, service)

a) Disguised unemployment is

found in ............ sector.

b) The newly emerging jobs in

India are found mostly in

........... sector.

1. SWLr]Ssx¢ YOeLË¾]R£ SrpVµV

a) kP^|U oOf¤ AjÍf vRq

b) –1 oOf¤ +1 vRq

c) RjYã}vV AjÍf oOf¤

SkLy]ã}vV AjÍf vRq

d) CRfLÐOosæ

2. 1991 Rs yLÒ¾]W kq]xVWLq

°¥¨V vu]Rft]\ÿ kéL¾sU

v]vq]¨OW.

3. WL¡x]W v]kejU Ro\ÿRÕaO¾OÐ

f]jLp] jaÕ]sL¨]p jaka]W¥

v]vq]¨OW.

4. NmL¨ã]¤ j]ÐOU wq]pLp D¾qU

IaOR¾uOf] kPq]Õ]¨OW.

(WL¡x]W, v|LvyLp]W, Syvj)

a) Nk±Ð RfLu]s]sæLpVo

WLeRÕaOÐfV .............. SoXsp]¤

BeV.

b) CÍ|p]¤ kOf]pfLp]

DºLWOÐ RfLu]svyq°¥

WPaOfsOU ............. SoXsp]sLeV.(2)

(3)

(2)

(3)

(4)

(1)

(4)

(1)
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5. A government spends Rs. 10,000

crore on the different

investment projects in the

different sectors as follows :

Education – Rs. 3,500 crore,

Health – Rs. 2,000 crore,

Transport – Rs. 2,500 crore,

Housing – Rs. 1,500 crore,

Job training – Rs. 500 crore

a) Write the names of the

sectors in which the

investment will lead to

human capital formation.

b) Find out the total amount of

investment which will lead to

human capital formation.

c) Represent the above data in

a Component Bar Diagram.

6. Define Statistics in singular

sense.

5. v|f|yVf SoXsWt]Rs j]Sƒk

kÈf]W¥¨Lp] KqO y¡¨L¡

10,000  SWLa] qPk fLRu¨LeOÐ

NkWLqU R\svu]¨OÐO.

v]h|Ln|LyU – 3,500 SWLa] qPk

BSqLY|U – 2,000 SWLa] qPk

YfLYfU – 2,500 SWLa] qPk

kL¡Õ]aU – 1,500 SWLa] qPk

RfLu]¤ kq]w}sjU – 500 SWLa] qPk

a) ojOx| oPsij y~qPk}Wqe

¾]jV vu]Rft]¨OÐ

j]Sƒk°¥ ja¾OÐ

SoXsWtORa SkRquOfOW.

b) ojOx| oPsij y~qPk}Wqe

¾]jV vu]Rft]¨OÐ RoL¾U

j]Sƒk fOW WRº¾OW.

c) oOWt]¤ j¤W]p]q]¨OÐ

h¾°tOkSpLY]\ÿ V  KqO

WSÒLe£V mL¡ cpNYU

vqpV¨OW.

6. yLX|WR¾ JWv\jL¡À¾]¤

j]¡vÿ\]¨OW.(1)

(2)

(2)

(1)

(1)

(2)

(2)

(1)
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7. a) fsRp¹¤ AjOkLfU j]¡vÿ\]

¨OW. 2000 ¾]¤ CÍ|pORa

^jyUX| 100 SWLa]pOU hLq]Nh|

SqXpV¨V fLRupOttvqORa

I¹U 26 SWLa]pOU Bp]qOÐO.

Cf]R£ Aa]òLj¾]¤

fsRp¹¤ AjOkLfU

WºOk]a]¨OW.

b) CÍ|L Yv¦Ro£]R£ hLq]Nh|

j]¡ÚL¡²j jp°¥¨V oPÐV

fs°tOºV. v]vq]¨OW.

(yP\j: hLq]Nh| j]¡ÚL¡²j

jp°tOU kÈf]WtOU)

8. ............. BeV qºLoR¾ W~L¡RRŸ¤.

a) oLi|WU

b) oLi|U

c) mzOsWU

9. BSqLY| SoXs Sjq]aOÐ NkwVj°¥

IuOfOW.

10. KqO jsæ S\Lh|Lvs]¨O SvºfLp

YOe v]Swx°¥ IuOfOW.

11. 1995 ¤ òLk]foLp AÍLqLxVNa

òLkjU

a) GATT

b) IMF

c) IBRD

d) WTO

12. NYLo}e CÍ|p]¤ v]WyjU

Bvw|oLp SoXsW¥ Jv?

7. a) Define Head Count Ratio. In

2000 India's population was

100 crore and number of poor

below poverty line was 26

crore. Find Head Count

Ratio.

b) In India, Government's

approach to the poverty

alleviation was of three

dimensions. Explain.

(Hint  : Policies and

programmes towards

poverty alleviation)

8. ............. is the second quartile.

a) Median

b) Mean

c) Mode

9. Write the problems of Health

Sector in India.

10. Write the characteristics of a

good questionnaire.

11. The International Institution

established in 1995 –

a) GATT

b) IMF

c) IBRD

d) WTO

12. List out the areas in which rural

India need development. (3) (3)

(3)

(1)

(3)

(1)

(2)

(6)

(3)

(1)

(3)

(1)

(2)

(6)
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13. Explain the phenomenon of

jobless growth in India.

14. Prepare a frequency

distribution by exclusive

method taking class interval of

5, by using the following data.

13. CÍ|p]Rs RfLu]¤ qz]f vt¡\ÿ

IÐ Nkf]nLyU v|©oL¨OW.

14. fÐ]q]¨OÐ h¾°Rt WVtLyV

C£¡Rv¤ 5  Bp] IaO¾V,

IWVyVWæPy}vV q}f]p]¤ KqO

BvQ¾] v]fqeU fáLrL¨OW.

16. SWqt¾]Rs WOaOUmè} ......

a) hLq]Nh| j]¡ÚL¡²j kÈf]

b) y~pU yzLp NYPÕV

c) yVNf} wLWVf}Wqe kÈf]

d) CvRpsæLU

15. fÐ]q]¨OÐ h¾°tOkSpLY]\ÿ V

sZO yµ]fLvQ¾] vNWvOU YOqO

yµ]fLvQ¾] vNWvOU vqpV¨OW.

v]fqe¾]R£ oLi|WU NYLl]R£

yzLp¾L¤ WºOk]a]¨OW.

16. Kudumbashree in Kerala is a .......

a) Poverty alleviation

programme

b) Self-Help Group

c) Women empowerment

programme

d) All of these

15. Draw less than and more than

Ogives for the following data.

Find out Median Graphically.

28 17 15 22 29 21 23 27 18 12 7

2 9 4 1 8 3 10 5 20 16 12

8 4 33 27 21 15 3 36

Marks No. of students

0–20 4

20–40 6

40–60 30

60–80 14

80–100 6

(2)

(1)

(3)

(4)

(2)

(1)

(3)

(4)
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17. A consumer's price index

measures changes in ............

a) Retail prices

b) Wholesale prices

c) Producers' prices

d) Ration shop prices

18. Write the uses of index numbers

in economics.

19. Calculate the Karl Pearson's

coefficient of correlation

between the heights of fathers in

inches (X) and their sons (Y). (4)

17. KqO DkSnLWVfQ v]syP\]W

At¨OÐfV .......... Rs

v|f]pLj°tLeV.

a) \]sær v]sW¥

b) RoL¾ v]sW¥

c) DsVkLhW v]sW¥

d) Srx¢SxLÕV v]sW¥

18. yLÒ¾]W wLyVNf¾]¤ yP\]WL

jÒqOWtORa DkSpLY°¥ IuOfOW.

19. k]fL¨¢oLqORapOU (X) AvqORa

B¦ o¨tOSapOU (Y)

Dpq¾]R£(Cµ]¤) SWLr]Ssx¢

YOeLËU WL¥ k]SpuVyR£ q}f]p]¤

WºOk]a]¨OW.

20. Following table shows the

occupational structure of India

in 2000 (in percentage)

X : 65 66 57 67 68 69 70 72

Y : 67 56 65 68 72 72 69 71

20. 2000 Bº]Rs CÍ|pORa RfLu]¤

Zaj(wfoLj¾]¤) \OvRapOtt

kŸ]Wp]¤ RWLaO¾]q]¨OÐO.

a) Compare this with the

occupational structure of

India in the British period.

b) Compare this with the

occupational structure of

Pakistan in 2000.

Sectors Workers (Percentage)

SoXsW¥ RfLu]sLt]W¥(wfoLjU)

Agriculture
60

WQx]

Industry
16

v|vyLpU

Service
24

SyvjU

a) Nm]Ÿ}xV WLsR¾ CÍ|pORa

RfLu]¤ ZajpOoLp] Cf]Rj

fLqfo|U R\áOW.

b) 2000 Bº]Rs kL¨]òLR£

RfLu]¤ ZajpOoLp] Cf]Rj

fLqfo|U R\áOW.

(1)

(2)

(2)

(3)

(4)

(1)

(2)

(2)

(3)
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21. Calculate the Mean of the

following frequency distribution.

21. fÐ]q]¨OÐ BvQ¾] v]fqe¾]¤

j]ÐV oLi|U We¨L¨OW.

22. oOWt]¤ fÐ]q]¨OÐ BvQ¾]

v]fqe¾]¤ j]ÐV (S\Lh| jÒ¡ 21)

oLi|¾]¤ j]ÐOtt oLi|v]\sjvOU

oLjWv]\sjvOU We¨L¨OW.

23. KqO SNkL^WVaV kbj¾]R£ nLYoLp],
SWqt¾]Rs rmÿ¡ W¡xW¡
An]oOX}Wq]¨OÐ NkwVj°RtÕã]
jÎ]f KqO kbjU ja¾OWpOºLp].
Af]Ss¨Lp] k¾jUf]Ÿ ^]sæp]Rs
200 W¡xWRq yÎ¡w]\ÿV h¾°¥
SwXq]\ÿO. v]v]i

WRº¾sOW¥R¨LÕU W¡xWqORa
oLi|vqOoLjU, AvqORa RRWvw
nPo]WtORa SrpVµV fOa°]pvpOU
jÎ]f fR£ r]SÕL¡Ÿ]¤

Nky]È}Wq]¨OWpOºLp].
fLRukrpOÐvRp f]q]\ÿr]pOW.
a) kbj¾]Rs yoxVa]
b) kbj¾]Rs yLÒ]¥
c) kbj¾]Rs Ij|PoSrã¡
d) kbj¾]Rs v]vqhLfL¨¥
e) kbj¾]sOkSpLY]\ÿ NkLgo]W

h¾SwXqe q}f]
f) kbj¾]sOkSpLY]\ÿ SWNÎ}p

NkvefpORa AtvV

22. Calculate the Mean Deviation

about the mean and standard

deviation of the above frequency

distribution (in Question No. 21)

23. As a part of a project study,

Nanditha conducted a study on

the problems faced by the rubber

cultivators in Kerala. She

visited 200 farmers in

Pathanamthitta district and

collected the data. In her project

report, she published her

findings including the mean

income of the farmers, range of

the land holdings etc.

Identify the following :

a) Population in this study

b) Sample in the study

c) Enumerator in the study

d) Respondents in the study

e) Method of primary data

collection used in the study

f) Measure of central tendency

used in the study

Income (in 000 Rs.) No. of Families

vqOoLjU WOaOUm°tORa I¹U

10–15 4

15–20 8

20–25 18

25–30 30

30–35 22

35–40 10

40–45 6

45–50 2

Total 100

(3)

(8)

(4)

(3)

(8)

(4)
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24. KqO SNkL^WVaV kbj¾]R£ Bh| qºO

ZŸ°tORa SkRquOfOW.

25. WL¡x]W ymVy]c]Rp

yUmÌ]\ÿOtt yUvLhU

v]wh}Wq]¨OW.

26. 2015 KWVSaLmr]¤ RjaOÒLSwq]

AÍLqLxVNa v]oLj¾Lvt¾]¤,

Av]Sa¨V Bvw|oLp RRvh|Of]

D¤kLh]Õ]¨OÐ KqO kOf]p

yTSqL¡² kÈf] BqUn]\ÿO.

ASfyopU Bf]qÕtt]p]¤ KqO ^s

RRvh|OfkÈf] BqUn]¨OÐf]jOtt

kÈf] j]¡SÇwvOU j]sv]sOºV.

CT qºO kÈf]Wt]¤, yOò]q

v]WyjRoÐ Bwp¾]jjO

yQfoLp kÈf] JRfÐO

f]q]\ÿr]pOW. j]°tORa D¾qU

j|Lp}Wq]¨OW.

27. wq]SpL RfSãL IÐV

NkyVfLv]¨OW.

SWLtj] WLsZŸ¾]¤ oOuOvjOU,

CÍ| WpãOof] o]\ÿU Sja]p]qOÐO.

24. Write the names of first two

steps in a project study.

25. Explain the debate over

subsidies in agriculture.

26. In Nedumbasseri International

Airport, a new solar project was

launched in October 2015 which

helps to produce sufficient

electrical power needed by the

airport. At the same time there

is a project proposal for

constructing a Hydro Electrical

Power Project in Athirappalli.

Among these projects, identify

the project which satisfies the

concept of sustainable

development. Justify your

answer.

27. State TRUE or FALSE.

Through out the Colonial

Period, India enjoyed export

surplus.

(1)

(3)

(1)

(3)

(1)

(3)

(1)

(3)














